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71+ ¥ R 2 12.09 7.25 2.56 2.7 Tl&% ~ £ 5o R 2 11.91 6.92*-  0.39 5.0 Tle A & <l B 2 12.09 6.39 2.18 6.1
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4 F Rk 7] 140 278.30 131.20 1.05  .00.0 204 g v 7] 88 340.19 178.90 1.06 .00.0 w4 Rk ) 52 212.79 89.97 1.03  .00.0

B 114 226.61 107.66 111 814 L% R ] 78 301.53 158.27 119 886 RS T 46 188.24 7757 113 885
1| qerep s 28 55.66 27.35 129 200 | 1l5% 44 4% 21 81.18 39.66 119 239 | 1|#esp g g 13 53.20 21.48 167 250
2|58~ 25 B R 25 49.70 21.41 093  17.9 | 2[|sfesep g g 15 57.99 33.49 106 170 | 2|25« :sgfoarg 7 28.65 14.62 0.88 135
) ET NS R o 16 31.81 14.34 093 114 |3|- 2w 12 46.39 29.25 103 136 |3|«mssm 5 20.46 12.08 0.92 9.6
4|r 13 25.84 16.09 1.11 93 |4]les - 2sars 9 34.79 15.80 098 102 |4|z % 5 20.46 9.26 2.46 9.6
5|t 5 8 5 20.46 12.08 0.92 36 | 5% 7 27.06 13.19 1.87 80 |5|F% -~ 2FH i 4 16.37 6.57 0.44 7.7
6 |2wem 10 19.88 8.12 1.51 [ N EREIE =298 3 5 19.33 7.64 1.02 57 |65 3 12.28 3.78 2.93 5.8
7| AR GO 5 19.33 7.64 1.02 36 | 7]um 3 11.60 7.12 505 34 |7 3 12.28 3.14 1.01 5.8
8l: % 6 11.93 5.03 1.15 43 | 8% %R 3 11.60 5.84 3.27 34 |8l=vun 2 8.18 3.14 1.58 38
9= v mm 2 8.18 3.14 1.58 14 |9|zwrs<men 2 7.73 3.60 1.11 23 |95 im 2 8.18 2.13 1.75 38
10] =5 % 4 7.95 5.02 3.45 29 10|58 F 1 3.87 2.68 1.00 11 10| 4 & <= 2 8.18 1.37 1.10 38

Bt L pp T 26 51.68 23.54 083 186 ERTE N 10 38.66 20.63*- 057 114 Hu 2t AT 6 24.55 12.40 059 115
1 a & tk= 5 4 7.95 2.59 1.11 29 |11]se g qon v mig g 1 3.87 2.25 1.36 11 |11 e 1 4.09 3.18 2.70 1.9
12| #s 3 5.96 289 194 21 |12fs up 1 3.87 225 056 11 |12 ;;W PEAREEL 4.09 318 082 19
13]4 s 3 5.96 2.33 1.03 21 |13) s 1 3.87 2.13 1091 11 |13 1 4.09 2.45 1.78 1.9
14] 3 = % 3 5.96 2.14 1.11 21 |14]=x 1 3.87 213 1.36 11 |14]z g qos v mig g 1 4.09 1.45 1.08 1.9

FEIEIMEAP T F . B
15 2 % 1 4.09 3.18 0.82 0.7 |15|f5x~ ¢ 24l § R 1 3.87 2.10 7.72 11

soo2nc 1§50 R pRALE S A vgic 3150,305.54 7 1225,868.54 & 1424,437.04 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

“h e F 47 279.83 176.94 1.29 .00.0 74 e~ F 30 347.87 228.50 126 .00.0 h R 7 17 208.00 120.65 131 .00.0

Ry T 41 244.11 157.47*+  1.44* 872 Sy i 30 347.87 228.50*+ 1.57* .00.0 LA e A F) 17 208.00 120.65 1.78* .00.0
#2578k 12 71.45 4461 1.69 255 1 Pprfessph o4 9 104.36 65.12 2.25*  30.0 V54~ 25 %% 4 48.94 24.73 1.78 235
2 | fesmp 2 10 59.54 36.50 1.73 21.3 205 # 2§ E o R 8 92.76 64.11 1.61 26.7 2| s 2R 3 36.71 26.45 1.50 17.6
Kl EREETES 2 24.47 18.04 1.19 43 3 |55k 4 46.38 33.53 3.68 13.3 Kl ERERTES ) 2 24.47 18.04 1.19 11.8
4 |55 5% 4 23.82 17.38 221 85 4| vk 3 34.79 20.57 0.84 10.0 N ERCE A A ] 2 24.47 10.10 4.73 11.8
5|e% - 25 ior R 4 23.82 16.18 0.87 85 5 = P (e O R 2 23.19 14.42 1.50 6.7 5 |*a% 1 12.24 12.71 5.58 5.9
6|+ PR CHERE ) e 2 23.19 14.42 1.50 43 6l 1 11.60 9.46 0.74 3.3 6 | T%% 1 12.24 7.19 6.62 5.9
7|k 3 17.86 10.62 0.84 6.4 T2 ¢ et & L K& 1 11.60 8.48 6.78 3.3 U EER 1 12.24 7.19 3.44 5.9
8|xtim & T B 2 11.91 5.48 2.16 43 8lun - 25 frmm 1 11.60 6.51 0.38 3.3 8 |/ oo p 23 % 1 12.24 6.73 0.55 5.9
9 |6 % 1 5.95 6.35 2.74 2.1 9| vkin oy 1 11.60 6.30 73.27 3.3 9 |ed 4ot e B 1 12.24 4.16 4.44 5.9
10] & & % 1 5.95 5.00 0.73 21 1005 7% 1 12.24 3.37 1.94 5.9

Hoi bl L o R 6 35.72 19.47 0.76 12.8 Ho bt & R v F 0 0.00 0.00 0.00 0.0 Hoig 2t X R 5 F) 0 0.00 0.00 0.00 0.0
112 ¢ 2 Bicd & 4L K B 1 5.95 441 3.74 21
12) 7 %% 1 5.95 3.68 2.44 2.1
Ik B 1 5.95 3.68 1.28 21
1415 vipe sy 1 5.95 3.35 38.31 2.1
15]5e § 4ot v 1 5.95 2.34 2.33 21

o Lgj i ErA e RE Y L ov B 16,796.54  §428,623.54 4 £8,173.0¢% -
2. %2 it = & ( Standardized rate) % 142000 W.HO. & % 4 v Edo B4 5 A8 o Tk ) A7 4RME L 7= FAEF M) VR 7= 0 Dk ) A R80 » = FAFF ) R 7= F (a=0.05)
3. #& % i 5+ = 1t ( Standard mortality ratio, SMR) o {3 it v = ib=F 5= g / Y 7= Peo XA T EF M 55 BFF R (0=0.05) -
4, TR KR LA AR FLE R Rt B R A vt
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g R = et 1 1 %% Mg & R £y R 2 7 R Fty 1% 7=
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[l (ICD-10%" #) A Hc =& o= & Fe =L [l (ICD-10% #f) =X R Fe= L % [l (ICD-10% #f) E Fe = %

54 e 7 69 18506 11548 095 i1 g 7] 25800  180.68  1.07 .00.0 st Ao ] 109.33 075 000

T 62 16629  103.78 1.07 L g 24221 17048 118 939 T g ] 103.86 096 950
| R 14 37.55 24.69 1.22 1 |sgorep 25 68.45 4840 169 265 FE AR 32.80 129 300
2lis - tistenan | 14 37.55 2246 099 2| 5 g 42.12 2942 161 163 P T 21.87 098 200
3|y i ppeomg | 12 32.18 19.56 1.33 3lis st m 42.12 2809 084 163 T 16.40 084 150
Y P 3 16.40 952 084 als ® 26.33 1708 306 102 e 10.93 135 100
s|v & 6 16.09 930  2.22 5|cwa 21.06 1585 056 82 TR 5.47 095 50
6| en 4 10.73 817 054 6 | wm 10.53 918 093 41 i 5.47 168 50
7|5 4 10.73 7.23 1.10 7|5 % 10.53 764 074 41 Sferep o 5.47 027 50
8 |4 1o (A 2 10.53 6.19 0.85 8 | 7 10.53 619 085 41 TEREA AN 5.47 164 50

¥

9 ; ;‘}V el 5.47 175 164 9 |s2 g on o mip g 5.27 500 251 20
10 & 3 7% 2 5.36 390 071 10[e4 5.27 363 249 20

R A s 7 18.77 11.70%  0.46* B AL 15.80 1020 043 6.1 A T 5.47 014* 50
1oe g o2t © o2 1 2.68 2.36 117 1155 5.27 363 200 20
12| s 1 2.68 169 246 12|25 4 mqes ¢ 4k 5.27 290 351 20
13| wac 1 2.68 1.69 1.23
14)5 s 5 1 2.68 169 064
1512 ¢ % Bicd & 4 K B 1 2.68 1.09 1.92
WGt 1.4, Bhd BRE? v B 737,285 0% 9 [218,992. 0% 18,2930~ -

2. {5 v 5 = & ( Standardized rate) % 220008 WH.O. & # 4 v #ds 4 5 A% o Tk ) L 7R 5= & ERRE 11 BB 5 Tkt | A FREL = KREER Y SRR % (0=0.05)
3. #%2& iv 5+ = 1L ( Standard mortality ratio, SMR) o {5 it ;v = ib=F e = de / WY - g XA m By F 3 HF 2 F(0=0.05) -

A FAL R T L AT FR PG p AR R




g2 2 B 3= K R L 2
ot RO ® M Ko » < R
3 ®108& (2019#)
: = 7 B B B
g, R 7= et 1 1 1% r= e & R 5= ALy 12 i 2 7= e B 7= FLy 1R 1% 7=
= R ¥ A 'F]'/,,\LL = R O¥ gHAD ‘F‘,'/,,\;L F = R O7 LA ’ﬁ/,,\}L

[ (ICD-10%4 #8) A i Fe= % =K Fe =L % i (ICD-10% #f) (¥ 7= K = % =L % | (ICD-104 #7) A s ok o & R %

54 e 7 86 18335  101.19*- 082 .00.0 4 g 7 57 23326 14360 085 .00.0 st Ao ] 29 12907 6206 075 .00.0

N 66 14071 7834 085 767 L g 50 20462 12391 090 87.7 T g 25 11127 5764 083  86.2
i tissemn | 18 38.38 2231 087 209 |1|i#-tgagenn | 12 49.11 3092 086 211 |1]|5# ot 5 uderm 6 26.70 1438 089 207
p) RS 13 27.72 1439 078 151 | 2|sqespzig 10 40.92 2520 088 175 |2|«psim 3 13.35 903 064 103
3| -2 pqenr g 8 17.06 1044 060 93 |3]-sm 6 2455 1614 060 105 |3|uw . zmioars 3 13.35 830 050 103
4% SR GO B 4 16.37 701 107 47 |alew . imqeers 5 20.46 1274 068 88 |4|wqosen i 3 13.35 343* 053 103
5| en 7 14.92 975 070 81 |s]|eww 5 20.46 1160 131 88 |5|wun 2 8.90 497 143 69
] BT 3 13.35 903 064 35 |6[|wsspcmEin 4 16.37 791 107 70 |6)|ssp 2 8.90 377 232 69
7|sw 5 5 10.66 566 1290 58 |7|eeizamen 2 8.18 563 140 35 |7 fg ;f FREARTEL 8.90 377 220 69
8| 5 2 8.90 497 143 23 |sli=m 2 8.18 487 233 35 |8|www 2 8.90 244 091 69
9 ;;‘}V Gl I 8.90 377 220 23 |ol|s=m 2 8.18 4.44 156 35 |9|im 1 4.45 4.16 065 34
10[5 & 5 4 8.53 391 176 47 |10]s i 2 8.18 444 141 35 |10|c s 1 4.45 338 348 34

Ausscgare | 20 4264 2284 073 233 B AL 7 28.65 1969 058 123 M2 s ) 4 17.80 443% 048 138
1) & 3 6.40 338 074 35 |uls s 2 8.18 374 080 35
12|50 3 6.40 250~ 057 35 |12|ww 1 4.09 330 192 18
13|22 2 e 2 4.26 282 073 23 |13|wus 1 4.09 244* 033 18
14| 5 = 2 4.26 260 185 23 |14|m 4 et e 1 4.09 233 150 18
15|55 2 4.26 196 101 23 |is|es 1 4.09 200 170 18
WGt 1) BARERE ? A v B 3°46,903.5 4 9 1224, 436.0 % 1222, 467. 5~ -

2. it = M RHRIE R R B T ARG R FEFR 00 BEE 52 & (0=0.05)
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% ( Standardized rate) % 122000 W.H.O. & F 4 ¢ #ds % 5 A8 o k- ) A 7Rl = &
L

3. &2 - 5+ = 1t ( Standard mortality ratio, SMR) - w2 e/ B

PRI A

%
c= &4 ¥ F (a=0.05) ¢




B , . . o
Bo% ok % B & 7]
Y ﬁ]lOSE (2019+# )
L =1
| F —
g & Feo Ay o FLg L R 5o W oE FLg o EL R 5o
= R 9 A = R OF A -p—/,,\w F = R O7 LA oA

i+ (ICD-104 #8) A #ic F= & > (ICD-104 #8) =& = K o=l % | (ICD-104 #8) B = K Fo= L %

“h e F 71 181.21 1 Rk 7 227.62 154.55 0.89 .00.0 h R 7 131.79 64.00 0.85 .00.0

LR F) 65 165.90 Ry 222.67 151.04 1.06 97.8 LA e A F) 126.52 60.85 1.11 96.0
#2578k 17 43.39 FEAFEIR 69.28 43.73 1.30 304 R 26.36 17.48 1.30 20.0
2|+ i s 5 26.36 TR 44,53 34,57 1.13 19.6 SFfedE P R 26.36 11.89 1.21 20.0
3|es - 2o 10 25.52 L BB oI 29.69 20.12 1.08 13.0 B BB oI PR 21.09 10.13 0.89 16.0
4] c 9 22.97 HE - 24.74 14.97 2.68 10.9 X33 21.09 6.81 243 16.0
5 p{erp 2 E 8 20.42 R 14.84 12.07 2.72 6.5 FEAFEfR 15.81 7.22 0.59 12.0
6% % 5 12.76 ER 14.84 10.80 0.98 6.5 5 5.27 3.90 0.89 4.0
7 |5 %% 4 10.21 T PR o R 14.84 8.49*-  0.34* 6.5 LN ¥ EC - ¥ 5.27 1.92 3.67 4.0
814 & 3 7.66 TR 4.95 3.51 1.76 2.2 e A kT R 5.27 1.48 1.05 4.0
9|5 % 3 7.66 % 7] "ﬁl(i&é&"ﬁl)% 4.95 2.78 0.38 2.2
10] ¢r & 1 5.27

Hoozbt &5 6 15.31 Howzbt & ogen 5 4.95 3.51*  0.10* 2.2 A T e 7+ %) 5.27 3.15%  0.13* 4.0
11]5 7] E3C =3 98 1 4.95
12 5% 1 2.55
13|24 2micd & 4 K % 1 2.55
14|20 2 2 <= B 1 2.55
Mo LR A R RE Y A v 3439,179.5¢4 +1£18,970.54 -

2. % i 5+ = F ( Standardized rate) % 722000 W.HO, £ f A v Ed2 24 5 28 o Tk ) 2 3B 5= FREF MO BEEL = 55 Tx ) A7~ F Gl RRRE  = 5 (0=0.05)
AR =l ( Standardmortalityratio,SMR)o %!}}l“}‘* =R e/ HF S B KR T EGE S 5 BF A F (0=0.05) -
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£
i =
Mg B I 7= e ) R 1% g B St ¥ i 2 = B I Ly i =
> = R 7 A » = R O7 gHAD FIR > = R 7] S AT FRAR

[ (ICD-10%4 #8) A #ic = & v & vt > (ICD-104 #8) =& = K et % | (ICD-104 #7) s & F %

“h e F 103 225.33 132.94 1.07 1 Rk 7 281.43 178.73 1.07  .00.0 T R F) 166.24 1.06 .00.0

LA B 7 87 190.33 113.58 1.15 LA g F) 260.11 166.60 1.14 92.4 LA e A F) 157.25 1.29 94.6
e 25787 % 22 48.13 25.89 1.17 42§58 % 55.43 32.40 1.02 19.7 425847 % 40.44 1.48 243
2 &% - 23R 16 35.00 22.08 1.34 2|45 s 25w 42.64 27.87 1.50 15.2 2085 ~ B o R 26.96 1.14 16.2
Kl EXEELES 5 22.46 12.89 1.05 3|k 38.38 23.92 0.94 13.6 ) EXER TR 22.46 1.05 135
4 p{esFp e g 10 21.88 13.32 0.66 4 Ise 29.85 19.36 2.42 10.6 4 PH{esFp 2 17.97 0.83 10.8
5% 7] R CHEE ) 5 21.32 13.09 1.59 5|leg® 25.58 19.57 1.66 9.1 5|4 i % 13.48 2.20 8.1
6| 2k 9 19.69 12.24 0.92 () Bt - 25.58 16.36 0.57 9.1 6 |2 frd & 2 R 13.48 4.92 8.1
7 |5 %% 8 17.50 10.41 1.65 7% 7 (HE A T 21.32 13.09 1.59 7.6 [ EER 8.99 2.63 5.4
8| i & 3 13.48 7.20 2.20 815 & 8.53 5.75 0.92 3.0 8lrwma s imen 4.49 0.89 2.7
9l #% 6 13.13 9.87 1.59 ] EXCE N 8.53 5.07 1.54 3.0 9 |=%% 4.49 0.52 2.7
1005 s 3 6.56 3.83 1.46 100 4 *F& 4.26 3.19 1.23 15 |10) %%% 4.49 2.38 2.7

Hoozbt A ) 16 35.00 19.36 0.77 Hipozbd & g F) 21.32 12.13* 0.60 7.6 Hoig 2t X R 5 F) 8.99 0.26* 5.4
11 g ot & o2 R 3 6.56 3.70 2.61 11 ° e sie 4.26 2.56 16.68 15 |11)2 ¢ o & & B 4.49 3.34 2.7
12|20 4 & = 3 6.56 3.65 1.24 12) 5 = % 4.26 2.56 0.89 15 12)3 % 4.49 0.71 2.7
13]% &% 3 6.56 3.54 0.84 13)v i 4.26 2.16 0.78 15
14 # sF v 1 2.19 1.63 0.94
15| 7 %% 1 2.19 1.17 0.92
Mot LR R E Y A v fie 3R45,709.54 § 4423,452.54 & 4422,257.0+ -

2. 2 i 5+ = F ( Standardized rate) % 722000 W.HO. £ i 4 ¢ #d2 4 2 A8 o Tk | 280 = F (LR 1 i LI R ST Bkt R R PRL R Z* (0=0.05)
3. #%2& iv 5+ = 1L ( Standard mortality ratio, SMR) o {5 it ;v = ib=F e = de / WY - g XA m By F 3 HF 2 F(0=0.05) -
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& = g 1 “ B
3 AR R R *ow R e R R
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

T R > 68 289.57 135.97 1.09 .00.0 1 Rk 7 50 404.86 210.93 123 .00.0 4 R 7 %] 18 161.68 53.76*- 0.80 .00.0

LA e F) 59 251.25 118.42 1.21 86.8 Ry 47 380.57 197.56 137 940 L R T 16 143.72 46.99 0.94 88.9
1P#fesp 23 % 14 59.62 28.90 1.40 20.6 1 Pprfessph o4 10 80.97 42.34 1.46 20.0 1pfosmp w2 g 4 35.93 14.10 1.19 22.2
205 % ~ L5 E o R 12 51.10 23.89 0.97 17.6 2| g 10 80.97 41.69 1.76 20.0 205~ 2 F E ok 3 26.95 8.55 0.75 16.7
3| 11 46.84 22.45 1.99 16.2 3l # ~ 25 F iR 9 72.87 38.79 1.05 18.0 3 5% 2 17.96 2.88 151 111
4%~ 2 iR 8 34.07 15.78 0.99 11.8 4%~ BB R 6 48.58 26.73 1.32 12.0 4%~ B R 2 17.96 2.88*-  0.56 111
5= 5] RSO R 3 24.29 10.45 1.21 44 5|6 % 3 24.29 14.65 1.36 6.0 5|+ s m 1 8.98 5.66 0.40 5.6
6% % 3 12.78 7.76 1.38 44 6 |+ 7| SR G e 3 24.29 10.45 121 6.0 6|t A &= R 1 8.98 5.33 1.24 5.6
VA EXCE W RS L 3 12.78 6.66 1.79 4.4 Tlxet &k 5 2 16.19 7.89 2.27 4.0 [ EER 1 8.98 3.57 1.98 5.6
8 |5 %% 3 12.78 3.95 0.97 4.4 8 |52 % 2 16.19 5.58 247 4.0 8| & % 1 8.98 2.60 1.33 5.6
) EEEE LR 1 8.98 5.66 0.40 15 9|etirs » 2 B 1 8.10 5.40 2.82 2.0 9|r R 1 8.98 1.44 6.00 5.6
100 %F 5 & 1 8.98 2.60 1.33 1.5 |10 %% 1 8.10 4.04 0.55 2.0

Hipzbt & fp s 9 38.33 17.55 0.67 13.2 Hpzbt & pp s 3 24.29 13.37 0.46 6.0 A Tk 7 %) 2 17.96 6.77*-  0.36 111
11) 55 2 % 2 8.52 2.33 1.62 29 |11} 8 Eve 1 8.10 3.85 2.04 2.0
12224 fr 8 s v2iE B 1 4.26 2.68 1.33 15
13] # sEp 1 4.26 1.85 1.67 15
145 & 1 4.26 1.85 0.75 15
L5 VRS HRE Y A v 3423,483.04 §F1212,350.04 & -11,133.0% o

1.
2. & iv 5+ = F ( Standardized rate) % 722000 W.HO. £ f 4 ¢ Ed2 4 2 28 o Tk | 2380 5= FRF MO BEE L = 0 TX ) 2 7R85 = SR F 3305 BHER 5= 5 (0=0.05)
3. #& 2 v 5+ = 1t ( Standard mortalltyratlo SMR) o it = it=5=fic / PHF 7= P *ETEF R F5 8F 2 F (0=0.05) -
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g &R = 45 R w1 S R = Ly R L =R R = 249 HREC s B
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE

i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

1 R F 93 251.04 146.89 117 .00.0 HEF R 7 F 59 308.84 199.74 118 .00.0 Eh R 7 F 34 189.50 100.30 116  .00.0
osern e ez sk 1m o eas | |emernm | 5 2743 1803 121 898 | |-<mesm | %0 le721 08 1% 682
1 Pprfessp 24 21 56.69 33.87 167 226 Lprfesep 28 % 14 73.28 49.31 1.65 23.7 1 Pprfessp 24 7 39.01 20.00 169 206
205 8~ A5 E R 20 53.99 30.09 1.29 215 205 # ~ A5 B R 14 73.28 44.96 1.36 23.7 2|5 s i ir R 6 33.44 19.12 1.32 17.6
3|5 ~ 2B form B 11 29.69 18.45 1.10 11.8 3| A 9 47.11 31.59 1.16 153 IR SRR Rl 6 33.44 17.54 1.18 17.6
41 sk 9 24.29 15.79 113 9.7 4%~ EF ol R 5 26.17 17.43 0.92 8.5 L EXER LR 3 16.72 1131 0.78 8.8
Bl EXEE LR 3 16.72 11.31 0.78 3.2 5| 3 15.70 10.52 1.01 5.1 5|+ 7 W 2 11.15 6.57 2.35 5.9
6 | SR (R ) e 3 15.70 8.43 1.18 3.2 6 |5 SR () 3 15.70 8.43 1.18 51 6|3 &% 2 11.15 6.26 1.70 5.9
HEEE L] 2 11.15 6.57 2.35 2.2 T Par 2 10.47 6.59 0.85 3.4 7 PR 2 11.15 4.51 121 5.9
8 |& 4 10.80 5.99 1.00 4.3 8 |5 1 5.23 4.50 1.10 17 S BRI 1 5.57 3.30 5.03 2.9
MEER 3 8.10 5.52 0.98 3.2 9 |ses 1 5.23 3.65 2.29 17 9 |5 =% 1 5.57 1.96 1.96 2.9
10] 3 % 3 8.10 4.27 1.00 32 10| @ A frd e SR 1 5.23 3.39 1.98 17
freoisarm [0 we mas ose 1sa | |wescimesn | 6 star 193 o2 102 | [wescimesn | 4 220 oz o0s4 ue
11 5w % 2 5.40 3.39 1.40 22 16 s 1 5.23 3.12 0.97 17
12) & 1 2 5.40 2.75 2.30 22 |12} 5 F 1% 1 5.23 3.07 1.49 17
13|vizs 1 2.70 1.89 2.27 11 |13} % 1 5.23 3.07 0.56 17
141/ & e o oty 1 2.70 1.62 1.29 11 |14)tmz & < h = B 1 5.23 2.94 0.95 17
154 & 1 2.70 1.60 0.59 11

soosrc Lt mi A amE S Ao 3137,046.04 9 1219,103.54 & 417,942.54 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

w4 o 9] 80 24751 12563 096 .00.0 4 g 7 52 30610 16055 096 .00.0 4 g 5] 28 18261 9226 091 000
hern | &t 73 eror oss 768 | |emerm | 1 25001 13825 09 846 | |-<mers | 26 iees7  ssas 141 o2
s tiamn | 22 6807 3131 132 275 |1li#-igsewm | 17 10007 4975 148 327 |1|em s gqenra 6 3913 1898 124 214
2 [sgeren 2 9 2784 1530 067 113 | 2|sgesp oz 6 3532 2079 066 115 |25 s 15w n 5 3261 1409 092 179
3| 3y 9 2784 1456 083 113 |3]- s 3 1766 1225%- 040 58 |3|ctprss 3 1957 1160 091 107
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9| s 3 9.28 654 041 38 |9]sayp 2 1177 613 175 38 |9 fg ;f FREARASL 6.52 496 134 36
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1 ;;W FEAREEL 6.52 496 134 13 |12les 1 5.89 208 207 19
13| 4 2 6.19 369 252 25
14z s gmpere Lk 2 6.19 139 307 25
15| % o 808 1 3.0 196 1201 13

oL Ly R RORE Y Ao 3732,321.54 9 1216,988.54 4 1215,333.0¢ -
2.4 Fit 5= 5 ( Standardized rate) % 22000 W.H.O. & % 4 v & #2548 5 b o DX ) AR AR 1 5 = SOEF MO BRI 2 S0 DX AR AR 2 SOEF F ) BRI 2 5 (a=0.05)
3. #- 2 it 5= v ( Standard mortality ratio, SMR) = 3 it 5o = W= %= i / W 7= Poo KL FH 2 F 5 HF A F (0=0.05) °
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i (ICD-10%~ #f) A 5= = g % | (ICD-10%~ #f) A 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %

54 e 7 98 28210  16L.14*+ 128* .00.0 4 g 7 69 38620  23341%+ 141* 00.0 4 R 20 17182 9283 104 000

S 77 22165 12778 129 786 b 61 34151  20687*+ 149% 884 L 23 136.27 7650 111 793
i t5smn | 16 4606 2511 107 163 |1]c s 14 7838 4732 188 203 |1|wwew 5 2062 1708 320% 172
2|e g 15 4318 2517 199* 153 |25 -tipsern | 13 7278 4235 128 188 | 2|wqesnmim 4 2370 1027 103 138
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4 |sesen 10 2879 1640 262% 102 | 4|wws 5 2799 1633 219 72 |4l|f# - tgisern 3 1777 1059 062 103
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7]an i nponrg 6 1727 881 063 61 |7|en-impuars 4 2239 1373 075 58 |7|esneeus 1 5.92 340 208 34
8|4 2 1185 863 192 20 |8fsin 3 1680 1071 296 43 |87 s 1 5.92 334 1307 34
olsun 4 1151 757 138 41 |9|ewn 3 1680 922 697* 43 |9|maqpnnn 1 5.92 334 389 34
10+ s 5 4 1151 715 246 41 10|50 2 1120 748 314 29 |1ofs s 1 5.92 326 164 34

Hessagprm | 21 6045 3337 126 214 R A g T 8 44.79 2654 101 116 R g 7 6 3555 1633 084 207
11)e g 3 8.64 453 718 31 |us s 2 1120 628 115 29 |11|r s 1 5.92 229 473 34
125 % 3 8.64 423 104 31 |12)egqereeegn 2 1120 566 467 29 |12|s % 1 5.92 229 088 34
132 g o mg 3 8.64 418 329 31 |13 j’;\?i} ;~$? ROEE L 5.60 334 1883 14 |13 ;;” FEARAEL 5.92 146 154 34
14 ; ;? FRtEmARAEL 5.92 146 154 10 |14|ewm 1 5.60 329 188 14
15| F 2 5.76 386 244 20 |is|pem 1 5.60 329 110 14

Moo LA R e mEY L 3434,739.54 §1217,861.54 & 216,878.04 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

1 R F 95 258.11 141.70 112 .00.0 HEF R 7 F 65 341.37 201.50 121 .00.0 Eh R 7 F 30 168.86 83.87 0.97  .00.0
osern e mss wsa 1w e | |cemern | G0 a1sil 1899 13 923 | |-<mesm | 27 st 7808 113 900
il P AN R 25 67.92 35.41 150 263 [1ls# -t a4mm 18 94.53 54.75 160 277 | 1|id o rFE R 7 39.40 18.50 128 233
2 |p{esFp e g 16 43.47 20.40 118 16.8 2| A 14 73.53 48.14 1.75 215 2 PHferFp EE 6 33.77 1161 135 200
3| R 14 38.04 24.98 1.72 14.7 3 PR R E 10 52.52 29.32 1.10 154 3l - il 5 28.14 9.41 1.05 16.7
4155 ~ B foi B 10 27.17 12.52 0.94 10.5 4%~ EF ol R 5 26.26 15.16 0.85 1.7 L EXER LR 3 16.89 12,61 0.77 10.0
Bl EXEE LR 3 16.89 12.61 0.77 3.2 5| 5 26.26 14.36 1.62 7.7 51d i 1 5.63 13.14 1.45 33
I EER 5 13.58 6.83 1.59 5.3 Cl EES 2 10.50 7.65 1.75 3.1 6 | TR 1 5.63 3.58 2.67 33
RS 3 8.15 10.26 1.64 3.2 7|5 =% 2 10.50 6.10 1.95 3.1 715 ¢ WA 1 5.63 2.99 1.16 33
8 | =% 3 8.15 3.97 191 3.2 8 P&y 2 10.50 541 0.81 3.1 8 | & & 1 5.63 2.62 0.89 33
9 P& 3 8.15 3.44 0.71 3.2 9 |5 SR ) 1 5.25 3.06 0.34 15 9 |5 =% 1 5.63 1.82 1.85 33
10|+ ¢ w% 1 5.63 2.99 1.16 11 J10) @ A fodk e s 1 5.25 3.04 1.89 15 | 10)5% 5% 1 5.63 1.82 0.57 33
Jreoisarm [ 12 me w4 0s0 126 | |wescimesm | 5 228 1451 0s9 77 | [wesccmesm | 3 18 S7v 043 100
11 < 5 1 5.63 2.62 0.89 11 115 % 1 5.25 2.84 0.51 15 |1ut)grr e 2sempgn] 1 5.63 1.39 36.18 3.3
12) 3 5o ) 1 5.25 3.06 0.34 11 |12)ztm 4 & <= B 1 5.25 2.49 0.87 15
13) &5 1 2.72 1.85 1.04 11
1415 &% 1 2.72 1.46 0.31 11
15| & o o 5oty 1 2.72 141 1.22 11

Wodn L BhAsREY A rdic 3236,806.54  §4219,041.0% % 17,765.54 o
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 85 19893 10704 086 .00.0 4 g 7 51 23230 13195 081 .00.0 st Ao ] 34 16367 8246 095 .00.0

N 74 17319 9500 095 87.1 L g 49 22319 12666 091 961 T g 31 14922 7850 136 912
tlis tisfmn | 18 4213 2202 093 212 |1|rsm 11 50.10 3117 118 216 |1]|ew . zgeeurs 9 43.32 2206 163 265
2| syqoerg | 17 39,79 2148 137 200 |2|i# - tiufrm 9 40.99 2287 068 176 |2|5# 15w n 9 43.32 2114 143 265
3|e 12 28.08 1644 127 141 |3|es . igqears 8 36.44 2083 116 157 |3|+psim 4 19.25 1309 089 118
4l s 4 19.25 1300 089 47 |4l|sqepezig 5 22.77 1438 047 98 |4|um 2 9.63 759 433 59
5| s OR 4 18.22 897 115 47 |sl|eww 4 18.22 1029 111 78 |5 |ews 2 9.63 479 098 59
6 [sqermp 25 % 5 11.70 720 032 59 |6 |ssmpcmmipn 4 18.22 go7 115 78 |elsewn 1 481 363 100 29
7| 5% 4 9.36 528 100 47 |7|i % 4 18.22 853 1711 78 |7leswm 1 481 225 076 29
gl » 4 9.36 3.96 107 47 |8|spEm 2 9.11 5.02 251 39 |s ;;‘U ARy 481 1.60 121 29
9 |um 3 7.02 444 318 35 |9o|wuwew 1 455 257% 034 20 |9|- s 1 481 118 374 29
10| 565 3 7.02 377 o061 35 |1o|ews 1 455 202 143 20 |10|mgqen g 1 4.81 118 158 29

Hustagarn | 11 25.74 12.04% 054 129 P 2 9.11 520%  022% 39 A T 3 14.44 3955 023* 88
15 s 1 481 363 100 12 |uifws 1 455 197 208 20
12| & % 1 481 225 076 12
wplF FEASEARESL 481 1.60 121 12

¥
14| 5 = 2 4.68 255 195 24
15| 75 1 2.34 089 089 12

oot L BARER R E P A v ofie 3R42,727.54 ¥ 4221,953.54 A 4420,774.04 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
4, TR KR LA AR FLE R Rt B R A vt
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i (ICD-10% #f) A Hc =& o= & Fe= b % [l (ICD-10% #g) (¥ =X R Fe= L % [l (ICD-10% #f) A #c o= & =& Fe= %

“h e F 39 260.03 109.88 0.82 .00.0 74 e~ F 28 355.01 155.99 091 .00.0 h R 7 11 154.69 63.23 0.63 .00.0

LA B 7 32 213.36 91.24 0.90 82.1 LA g F) 25 316.98 146.10 1.00 89.3 LA e A F) 11 154.69 63.23 0.97 .00.0
1P#fesp 23 % 8 53.34 24.57 1.02 20.5 1P+ferp 23 % 7 88.75 40.24 1.33 25.0 1)%% 2 $foiz g 3 42.19 13.42 1.09 27.3
2|5 % ~AFE R 6 40.01 18.39 0.62 15.4 2|5 % A FE R 4 50.72 26.60 0.60 14.3 2|5 g sk 2 28.13 15.96 1.15 18.2
3|es - 2o 5 33.34 9.65 0.81 12.8 3| 3 38.04 17.54 0.74 10.7 3lig A FE R 2 28.13 9.88 0.63 18.2
N B 2 28.13 15.96 1.15 5.1 4 D& 3 38.04 16.18 2.20 10.7 4 2 ¢ el e L B R 1 14.06 7.25 5.21 9.1
5w 3 20.00 9.37 0.76 7.7 5| fodl @ v R 2 25.36 9.21 7.24 7.1 5 PH{esFp o R 1 14.06 6.58 0.37 9.1
6 |5 %% 3 20.00 8.24 1.26 7.7 6l - 25 frmm 2 25.36 6.80*-  0.57 7.1 6 | T%% 1 14.06 5.92 4.64 9.1
A EE T 1 14.06 4.22 1.85 2.6 7|8 FvE 1 12.68 11.31 2.85 3.6 ST 1 14.06 4.22 1.85 9.1
8 |re g fodl i i R 2 13.34 4.38 3.38 5.1 8leg® 1 12.68 7.81 0.63 3.6
9| P (e O e 1 12.68 3.09 0.50 2.6 915 % 1 12.68 5.79 0.82 3.6
100 # *F& 1 6.67 6.17 2.34 26 |10)zte 2 & o= B 1 12.68 4,59 1.46 3.6

Y T | 7 46.67 18.63 0.57 17.9 B 2l X g F) 3 38.04 9.90%-  0.50 10.7 H 2L X R F) 0 0.00 0.00 0.00 0.0
11] & 5 % 1 6.67 4,55 0.64 2.6 |11 1 12.68 3.71 1.55 3.6
122 ¢ 2 mcd o 4 R 1 6.67 3.29 2.68 26 |12]v s 5 1 12.68 3.09 152 3.6
13) %% 1 6.67 2.93 1.80 2.6 13| PR CHEE ) By 1 12.68 3.09 0.50 3.6
14] 5 % 1 6.67 2.93 0.52 2.6
15|tim 2 & <k 2 1 6.67 2.20 0.76 2.6
Mot LR ok mEY Ao e 3414,998.04 9 447,887.04 AT, 111.0% -

2. & iv 5+ = F ( Standardized rate) % 722000 W.HO. £ f 4 ¢ Ed2 4 2 28 o Tk | 2380 5= FRF MO BEE L = 0 TX ) 2 7R85 = SR F 3305 BHER 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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[ (ICD-10%4 #8) A i Fe= % =K =t % |i= (ICD-10% #f) (¥ 7= K = % =L % | (ICD-104 #7) A s ok o & Fe =L %
54 e 7 80 29451  16364*+ 120 .00.0 4 g 7 50 35724 20461 117 .00.0 st Ao ] 30 22783 12376 122 000
N 64 23561  13524*+ 131* 80.0 L g 46 32867  19176%+  1.46* 920 T g 24 18226  103.73*+ 147  80.0
i tissemn | 18 66.26 3973 137 225 |1|i# - tgagenn | 13 92.88 5300 144 260 |15 g uderm 5 37.97 2689 116 167
p) RS 10 36.81 1719 094 125 | 2|sqep oz 8 57.16 2093 111 160 |2|ww . zmiears 5 37.97 2046 130 167
3| en 6 22.09 1470 098 75 |3]-sm 6 42.87 2827 098 120 |3|mafpesm 3 22.78 58  13.18* 100
4w on mpn 6 22.09 1171 945 75 |a|agw 5 35.72 2228 212 100 |4|ww 2 15.19 1508 680 6.7
] PR 6 22.09 1162 070 75 |5|maqesmmm 3 21.43 1642 717 60 |5|viwm 2 15.19 871 234 67
6 | s O® 3 21.43 830 121 38 |6|ews 3 21.43 1295 156 60 |6 |wws 2 15.19 679 141 67
7| 5% 5 18.41 1205 211 63 |7]|sspcmmepm 3 21.43 830 121 60 |7 [ min 2 15.19 446 055 67
8 e 5 18.41 1036 152 63 |8|rwismeon 2 14.29 802 217 40 |sls=m 1 7.59 516 700 33
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105 3 11.04 1043 493 38 |10|-ss 1 7.14 624 318 20 |1ols % 1 7.59 516 102 33
Aussgarm | 16 58.90 2840 090 200 P 4 28.58 12.85%  036* 8.0 H R T 6 45.57 2004 073 200
1|t 2o 3 11.04 474 170 38 |ufs » 1 7.14 420 062 20 |1i|epssg 1 7.59 48 035 33
12;;ﬁ‘%¢*W7; 1 7.59 5.16 169 13 [12|ew s mqeems 1 7.14 335% 021 20 [12]s s 1 7.59 460 5153 33
13|« s s g 1 7.59 48 035 13 13| 3w 1 7.59 140 153 33
145 3w 1 7.59 140 153 13 14|52 2 e 1 7.59 140 116 33
i 2 7.36 473 077 25
W L 1.4, Biu EFRE X v @ 3°27,164.5% 9 213,996, 0% -~ {£13,168.5~ -
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

T R > 84 275.85 138.43 1.08 .00.0 1 Rk 7 52 330.56 182.64 1.06 .00.0 4 R 7 %] 32 217.39 93.41 1.10 .00.0

LA e F) 73 239.73 115.42 1.24 86.9 Ry 51 324.20 179.98 1.26 98.1 L R T 31 210.60 92.26 1.38 96.9
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12] 5% 5k 2 6.57 3.62 0.52 24
13|t A & <= B 2 6.57 3.24 0.96 24

PR P dRA gk s .
14 5 Rt ) 2 6.57 2.75 33.99 24
15] # sEpi 1 3.28 1.72 1.35 12

sosrc Lt EamE S Ao e 3+30,451.04 9 15,731.04 % 414,720.04 o
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1 R F 104 312.44 140.71 1.03 .00.0 HEF R 7 F 65 370.16 180.10 1.00 .00.0 Eh R 7 F 39 248.00 97.93 1.04 .00.0
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41 e 7 21.03 13.50 0.84 6.7 4] vem 7 39.86 25.11 0.81 10.8 4t &S B 4 25.44 9.90 2.83 10.3
5 & 5 15.02 7.69 1.01 4.8 5| 2 11.39 6.51 0.60 3.1 Sl # ~ 25 4Rk 4 25.44 9.43 0.59 10.3
6l & <H= R 4 12.02 4.90 1.43 3.8 613 &% 2 11.39 3.10 0.77 3.1 6 |~ dest 5 & 1 6.36 5.48 0.28 2.6
I8 ERENC: =9k 2 11.39 3.10*- 047 19 [l ERENC: =29k 2 11.39 3.10*-  0.47 3.1 7| i 1 6.36 5.33 11.82 2.6
I EER 3 9.01 5.86 0.92 2.9 8 P&y 1 5.69 4.11 0.36 15 8|8 & 1 6.36 5.33 6.90 2.6
9|3 % 3 9.01 1.76*-  0.73 2.9 O Pref ol & vaf Ry 1 5.69 3.39 179 15 9 | A foir o 1 6.36 3.26 2.86 2.6
10]-+~ 125t 5 A 1 6.36 5.48 0.28 1.0 |10z ¢ #afcd w A K& 1 5.69 1.45 2.45 15  10)% %% 1 6.36 1.27 212 2.6
freoisarm [0 w0s wese o ws | |wescimern | 5 mar  azre oa9 77 | [wescimesm | 5 a7 7ere oas 128
12 ¢ H A8 s L KR 2 6.01 1.04 2.44 19 12 ¢ 2afcd o 4 K& 1 6.36 0.81 2.36 2.6
12) 7 oy 1 3.00 2.07 5.42 1.0 12)5 &% 1 6.36 0.81*-  0.65 2.6
13|72 8 fo 3t 2ig R 1 3.00 2.07 0.80 1.0
141/ & e o oty 1 3.00 1.60 1.07 1.0
15 # %% 1 3.00 0.72 0.85 1.0

Wodn L § i BA¥semE Y A v 3233,286.54  § 4217,560.04 % 215,726.54 o
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A
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& 3+ 7 [ - A
g, R = et 1 1 i3 r= e & R 5= ALy 12 i i »= | B 7= FLy A 1% 7=
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[ (ICD-10%4 #8) A i Fe= % =K =t % |i= (ICD-10% #f) (¥ 7= K = % =L % | (ICD-104 #7) A s ok o & Fe =L %

54 e 7 66  399.08  160.16 119 .00.0 4 g 7 39 43697 18629 111 000 st Ao ] 27 35466  137.31 130 .00.0

N 51 30838 12594 121 773 L 33 36975  167.63 121 846 T g 23 30211 12757 141 852
Wis - tisfmn | 12 72.56 29.27 105 182 |1|is - tissrm 6 67.23 2043 079 154 |1l|5s 5 userm 6 78.81 27.27 155 222
2 e p e 8 48.37 1413 087 121 |2|-uw 5 56.02 3221 106 128 | 2|wgesen mu 4 52.54 7.45 117 148
3| -2 pqenr g 7 42.33 1836 096 106 |3|es.imiara 5 56.02 2427 126 128 |3|+psim 3 39.41 23.01 164 111
4l s 3 39.41 23.01 164 45 |4|wses 5 56.02 2141 330% 128 |4|ww . zmioars 2 26.27 1438 061 74
5 | 6 36.28 1378 220 91 |5|wqesprig 4 44.82 1919 067 103 |5|i# 2 26.27 1429 239 74
6| en 5 30.23 18.11 112 76 |6|s=m 2 2241 1201 480 51 |6|vim 2 26.27 815 338 74
7| i 2 26.27 815 338 30 |7leeizamen 2 22.41 892 260 51 |7lum 1 13.14 1065 533 37
8ls % 4 24,19 9.52 182 61 |slim 2 22.41 642 146 51 |s8|ews 1 13.14 1065 371 37
9lsm 42 ame 3 18.14 8.06 195 45 |oles 1 11.20 729 314 26 |9lreizamen 1 13.14 5.86 126 37
10|+ 7 1w 1 13.14 208 220 15 [10]s s 1 11.20 649 136 26 |10|mues 1 13.14 58 079 37

Aussigaprm | 15 90.70 34,22 112 227 B AL 6 67.23 1866* 077 154 A T 4 52.54 974 090 148
11;;ﬁiﬁt*m*ﬂ 1 13.14 1.49 196 15 |1tfesrmpeneann] 1 11.20 315 48 26 |1i|szum 1 13.14 2.98 220 37
12| 5 e 2 12.09 796 425 30 |12|ews 1 11.20 315 255 26 |w2lsms 1 13.14 208 214 37
13]s i 5 2 12.09 497 164 30 |13]s 1 11.20 303 133 26 |[13]s i 1 13.14 229 200 37

. e FRHEMEAD 7S
14| 7 2 12.09 480 307 30 |14|wspcmmena 1 11.20 303 o045 26 [iaf7 % 1 13.14 1.49 196 37
15|53 5 2 12.09 2.89 166 30
W aL: 1.4, Bh<SmE? Arv B 3°16,538.0% 9 28,025 04 ~ 27,6130 -
0. i 1 = SR RRE R F 0 TR, AR R RS FBF RN R 2 % (0=0.05)
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % | (ICD-10% #f) A = & Fe= % =k %

54 e 7 41 27315 117.29 0.89  .00.0 4 g 7 27 34356  158.92 095 .00.0 st Ao ] 14 19575 70.19 079  .00.0

g 33 21985 10208 094 805 L 24 30538 14257 098 889 T g 13 18177 68.56 112 929
| FE R pap 9 59.96 2231 096 220 |1li# - tiEdern 6 76.35 33.73 098 222 |1lss g asenn 3 41.95 9.56 093 214
2| - 2 pqeonr g 6 39.97 21.37 100 146 |2]cm 4 50.90 30.19 103 148 |2|cpsswm 2 27.96 20.94 122 143
3 [seqormp 5 4 6 39.97 17.09 079 146 |3]|em i giarm 4 50.90 25.96 127 148 | 3|2 i gqenmn 2 27.96 17.05 070 143
4leprin 2 27.96 20.94 122 49 |4]epesep yg 4 50.90 24.06 082 148 |4 |eqorep i 2 27.96 7.62 070 143
5 ; ;‘*ﬁ?‘ Sl I 27.96 6.69 456 49 |5]sim 1 12.72 6.36 163 37 |5 ;;*"" BEARAEL 5 27.96 6.69 456 143
6| 4 26.65 17.76 107 98 |6|wus 1 12.72 6.18 078 37 |6|s=ns 1 13.98 3.81 250 7.1
7|5 1R GEE OB 1 12.72 381 058 24 |7|vws 1 12.72 424 315 37 |7|zsampene | 1 13.98 2.88 495 71
8 e 1 6.66 3.44 044 24 |8]sw 1 12.72 424 092 37
ols wp 1 6.66 333 098 24 |9]|swm 1 12.72 381 066 37
10|53 5 % 1 6.66 217 102 24 |10]% s R 1 12.72 381 058 37

P2 g 8 53.30 1522% 073 195 B AL 3 38.17 16.35 076 111 B % T 1 13.98 163* 016* 7.1
e 2meneiin] 1 6.66 1.64 273 24
12| s 3 % 1 6.66 164* 068 24
13|75 1 6.66 118 187 24
14l % 1 6.66 118* 054 24
W 3L: 1.3, B R ERE Y A v @ik 3415,010.54 9 127,859.04 {27, 151.54 -

2. & iv 5+ = F ( Standardized rate) % 722000 W.HO. £ f 4 ¢ Ed2 4 2 28 o Tk | 2380 5= FRF MO BEE L = 0 TX ) 2 7R85 = SR F 3305 BHER 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X R Fe= L % e (ICD-10% #f) A #c o= & =& Fe= %

T R > 92 310.96 141.40 1.14  .00.0 1 Rk 7 58 375.55 192.94 1.13 .00.0 h R 7 34 240.42 85.95 1.14  .00.0

LA e F) 83 280.54 129.06*+  1.30* 90.2 Ry 55 356.13 183.27 1.23 94.8 L R T 31 219.21 80.66 156* 91.2
1]+ FR GRS 10 64.75 2577+  3.28* 109 1o e 11 71.23 45.93 1.53 19.0 V54~ 25 %% 8 56.57 22.40 1.48 235
205 % ~ L5 E o R 18 60.84 27.21 111 19.6 205 # 2§ E o R 10 64.75 31.48 0.92 17.2 2 PHferFp EE 7 49.50 14.71 1.52 20.6
Kl B - 14 47.32 21.15 1.06 15.2 3= HENE =29 10 64.75 25.77*+  3.28* 172 3o -2 frn 6 42.43 13.45 1.28 17.6
4] c 12 40.56 26.67 1.70 13.0 4 PrqosFp v g 7 45.33 25.26 0.80 121 N BN R T 4 28.28 18.13 127 11.8
5|4% - 25 formn 12 40.56 14.45 1.16 13.0 5|25 « & 5o/ R 6 38.85 16.15 1.05 10.3 511 %% 2 14.14 3.60 20.71* 5.9
6 |+ 5 5 % 4 28.28 18.13 1.27 4.3 6 %% R 3 19.43 10.52 1.29 5.2 6|tim A & T R 2 14.14 3.60 1.86 5.9
TItwad &<k B 5 16.90 7.07 2.30 5.4 Tlxet &k 5 3 19.43 10.02 2.69 5.2 Tl s 1 7.07 3.60 4.64 29
8 | % 3 10.14 5.30 0.75 3.3 8|&:¢ % 2 12.95 7.98 0.72 34 8 | 1 7.07 1.17 1.65 29
9 | 3 10.14 3.55 1.84 3.3 9 |52 % 2 12.95 5.81 1.95 34
10) & & &% 2 6.76 4.52 0.72 2.2 1005 % 1 6.48 4.35 0.52 1.7

Hoozbt A ) 9 30.42 12.34*%-  0.53 9.8 Hipozbd & g F) 3 19.43 9.67% 045 5.2 Hopozbt A g 5t F) 3 21.21 5.29*  0.30* 8.8
1)) % % 2 6.76 2.07 13.15* 2.2 11) 8 = 1 6.48 3.69 1.62 1.7
12]% % 1 3.38 2.50 0.32 11 12|24 2mfcd & 4 KR 1 6.48 3.50 3.27 1.7
132 ¢ 2 Bicd & 4L KR 1 3.38 1.89 1.64 11 134 1 6.48 2.48 0.91 1.7
141 8 F & 1 3.38 1.80 131 11
1505 & 1 3.38 1.01*- 0.57 11

spoosn L5t RE RE ? A v e 3420,585.54  F1415,443.54 <+ 114,142.04 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A




